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This is how n''9 is 9135 “wR 29 said; what is the mistake, did he say
to him, *>2%°1% 92 XaR but not you’”’

OVERVIEW

A person sent a 2w to divorce his wife. When the m°%w said, ‘I do not know her’,
the husband said, give it to °»1°1 72 XaX; he knows her and will give it to her’. The
5w could not find 82X when he met three other sages, and they said, ‘give us the
Y3 (and say 121 1"92) and we will give it to XaX’. However X190 217 said that this
mHW is not a WYY 1w oW and therefore cannot give it over to others (except
for XaR). There are two versions of what followed. X217 either said that X790 29
undermined these three sages, or he said X790 27 was incorrect in his objection.
»"%9 maintains that in both versions, *wX 27 disagreed with x27.' Our Moo
disagrees.
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And in the second version, SR 239 is explaining why s'k7190 217 objection was
erroneous as X217 maintained, and according to both versions, WX 29 is

consistent that X190 21 was incorrect stating that he was a w137 10° Xow MW -
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And when the X nx stated >mR7T X2°R; indicating that this is a different version;
that was referring only to 829, but not to *wx 2.

SUMMARY
WX 27 always maintains that he is a Pw17%3% oW

THINKING IT OVER
What are the relative advantages of these two NMX07°1?

!'In the first version WX 27 maintained that X190 21 was wrong, because the husband never excluded the 5w from
being a Pw1a? mow. In the 7"R, "W 11 disagreed with X211 and maintained that X150 27 was correct that the %W was
not a W% MW (as "W is 07 that NR X1 52111 12 RIAR 799 KP IRA).

% In both versions "wX 21 is saying the same thing (according to MmooIN), NX X1 121 XaX % kP ?! The husband
never excluded the 7w from being a PwI"a? mOw.

? In the first version X271 supported X190 27, however in the 7" he disagrees with X790 27. However *wX 27 always
disagrees with X790 21.
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